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Answer any Five Questions
All Questions Carry Equal Marks

l.a)  Using Graphzcal Method solve the following Lmear Programmmg Problem
Max Z =3%, +4x, “
- Subjectto x,—x, 20;2.5x, ~x, <3 and X, X%, 20,
b) _erte the Slmplex method algorithm to solve Lmear Programmmg Problem.

2.a) erte a least-cost method a!gorlthm to solve transportatlon problem
b) .The a551gnment cost. of ass:gnmg any‘one operator to any oneg: :machine is given in

‘the followmg table:
Operaton_/”; s
. . o [
| Machines [ A 10 |5 {1315
B3 ~lo 18 [3
7 3 )
- }'\.Ik‘l. {9x 7
N . ’/,-

3.a) ,_r_zSeven jObS go first; avgzr t&ch{ne 1’ and then machm,f-: 2. Processing times in hours.

are given as: \Mm
flob__ “T:TA B [Cc D [E [F '[G
Machine {:]{6 24 |30 |12 j20 |22 |18
Machine |:|16 |20 |20 12 {24 |2 6
2 v | : :

Find the optimum sequence in which jobs sho-uld be processed.
b)  Write the types of replacement decisions.

4.2)  Define the following terms:
i} Finite game
ii) Infinite game
iii) Zero sum game
iv) Saddle point. :
b)  Solve the following game whose pay-off matrix is given by:




' I Ir | v
A I 3 2 4 0
B ITRE 4 {2 4

m |4 2 |4 0

1TV [0 4 1o 8

5.a) _ Explain about the elements of the waltmg line systems.
b) A supermarket has a single cashier. During the peak hours, customers arrive at a
_rate of 20 customers per hour. The average number of customers that can be
" processed by the cashier is 24 per hour. Calculate:
1) The probability that the cashier is idle. _
i) The average number of customers in the queumg system.
111) The average time a customer in the queumg system

_ 6.a)  Briefly explain about types of inventory models.

~* b)) “Compute Economic order qu .""tl' ;W'Q) and the total variable costs: for the
following items: .
“Annval démand = 5000 Unfts Iffmt phce;— Rs 203 Order cost = Rs.13;
Storage rate = 2% per am{um {nterest ratMlZ% per annum; :
Obsolescence rife = 6% pethanrﬁjm/ ERRRR

T Ta) Use dynamiic programmmg to sqlve\t!;e following'linear programming problem.
Max Z=3x +5x ”subjecft to thmconstgalns x < 4 x2 £6,3x,+2x, <18

“and X, x2>0 . \ \ />

Y

b) . State the “Bellman s p}'mezple\ef ofatlmahty”

L - 8.a) - Write the practical apphcat't‘:rnsr of,simulatlon ,
' b) A management wants of*judge whether a project X is worth taking up or not.
.+The data with regard to this project (having 10 years? life) is given below:

, o |year |1 2 3. 14 .5 .6 7. 18 19 10
T “[Net 17000 ['9800 | 10800 | 11100 | 9400 [ 7600 | 5700 | 4000 | 2000 | 2000 |
.| benefits. :

If the initial outlay on the prOJect is Rs. 40 ,000/- with a salvage value of
Rs.10,000/-, find out the Net present value of the project, given the opportunity
cost of investment as 10%.
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